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Abstract

In this article we want to say about the Compton effect and the Zeeman effect .
(Both of them are almost one effect). We know that both of them are about the
light (electromagnetism waves) and some special particularity of that. For example
the Zeeman effect is about the refraction of the light that when we put the source of
the electromagnetism wave near the source of the magnetism or electrical field
we’ll see the breaking or refraction of the light and we can also that is possible that
the light refract to some part for example three or four part but we should
remember that these effect (Zeeman, Compton) aren’t just for the light(the
electromagnetism type) and of course they are a little about the light and some part
of the light like the X-ray or f-ray or y-ray or.... But it cant be impossible that
these effects be correct also about the light.

Now we want to say a reason for that. We say that if we want to consider the
particularity of the things or waves or the atoms or.... We can do it with talking
about the moving of them and we say that when for example an electron is turning
around the nucleus quickly we infer that a special force caused it and now during
the moving or after the moving we can get a special force and we can with this
subject say the reason of many effects and now we try to say a simple reason with
this method. For the first time this subject is so easy but we can put this easy
subject the fundament of our saying.

1. The extra force for fraction

If we want to talk about the wave (electromagnetism) in the electromagnetic
system we can say when the electromagnetism ray is passing from a place, that



place, that place get effect from the wave because we know the electromagnetism
wave makes the electrical and magnetic fields and they are the effectual wave for
around. We know that it is possible that many other particles or other small matters
be on that place which we’re sending the rays of a wave. So we know that the
particles are moving and they enter the little or small force to each other and we
consider that this force was about the electron moving or in the usual because the
electrons are moving they got an energy and force. Now we can say that when we
take for example some narrow way of the electromagnetism waves and they can be
near each other so each of them make an electromagnetism field and we can see
that these fields go to each other and we can say it the particles interference of the
waves. A special electromagnetism wave by its moving can make a force that it
caused from making the field. So we can talk about the forces instead of the fields
or the energy and we can accept it as a principle. In some where it is possible that
the forces interference each other and it be a positive interference or for example
the negative interference. As you see we can calculate this subject as the easily
wave fields about interference but to this difference that we should talk about the
force. We know that these forces have come from the moving of the wave for
example we consider that the wave equations are:

x =Acos(wt+¢) or x = Asin(wt + @) (1)

Now we want to consider when a wave for example beats to another thing like
materials or something else or even the other waves. We know that we should take
the momentum of the wave and matter after and before or some times during the
beating that they’re constant. So we have:

Pw + Pm = Pw + P (2)
We know that:
dp p t
F=— ﬁjdp=Ffdt=> p—po =Ft 3)
dt - 0

p =Ft+p, = (herewe have) p =p,, + P & Po = Pw + Pm
= P + Pm + Ft =Py + Pin (4)



You can see that here we could get a good correctly sentence that depended to (F
& t). Here we’re talking about the waves (electromagnetism) and it’s important for
us that there is a force depended to the time. In the easily classical effects we cant
consider the (Ft) because it isn’t important for us and also it’s very little and when
we want to talk about the particles we can consider the (Ft) and about (x) we’ll
have:

My Xy + M X + Ft = Mm%y + My %o (5)
If we want to calculate it to the classically way and in the electromagnetism system
we should consider another or correctly sentence for the (m,,) and we can take it
from the Poynting vector because we’re talking about the particularity of the
waves and if we want to calculate it in the electromagnetism system we should
consider the (m,,) like the pointing vector. So we have:

- 1 - P
S=—(ExB) (6)
Ho
And we will have: (for taking the electromagnetism mass we should consider the
density)
pS = = (E xB) (7)
And we put it in eq.(5):
.X:. - j—y -x:,. 2 > 7 .
p'u—w(ExB)+mmx','n+Ft=p‘u—W(E><B)+mmx','n (8)
0 0

And we know: (from some electromagnetism fundaments)

—

E=c]E_'>’>

So if we want to write it in the vector way, we’ll have:

-

Ex§=c§xB=c(§x§)=0=const 9)

And:



X, X, ™
P'u_w const + my,x,, + Ft = P‘u_w const + my, X,
0 0

Xw (BT : : :
P MW (E X B)because we can write a diagonal matrix for
0

that and consider for example the (x or y or z) components and write a zero

Here we didn’t delete the

diagonal matrix for the other components for example when we’re calculating the
(x) component we can take the (y & z) components equal to zero or even we can
sometimes don’t complete the diameter of the matrix and of course we should take
the condition effects for doing this work. The mean is:

iJ ok i j ok
0 B, 0| = |0 B, 0[=0 (10)
0 0 B 0 0 0

But here we wrote the matrixes that infer that we can write the matrix that doesn’t
change to zero.

So we prefer to put the (const) instead of the zero. From eq.(9) we have:

E x B = const = E—m)sin(kx — wt) X E;sin(kx — wt)
= sin?(kx — wt)(E,, X B,,) = const (11)

Of course we wrote at the before that E = cB and this equation is correct about the
(E & Bjy)but if we want to have the other (E & B) we can take them equal with
(E,, & B,,) but we know we should talk about the E ;. Know because the (E,;))
at the first has made with flawing electrical source here we can’t use from this
formula:

kq

E= &E=r—2ur (12)

=
Because in fact we don’t have really two ions for absorption and here the first force
and field is important. So we write:

dd
E,=&,= I (Faraday's law) (13)



And we know that:

E,
B, = I (here the (1)refers to the lenght as an unit lenght) (14)

11

But this formula is correct when the (E,, & B, & I) be perpendicular that
fortunately in the electromagnetism waves is true. By putting these in eq.(11) we’ll
have:

2(k t) chxF = t (15)
sin X w dt 11 = cons

d® _ Fp) . :
If here we don’t say that (E X 1—’;‘) is zero we can infer the good products. Now

we write the top equation as a matrix.

[ j k
sin?(kx—wt) dby 4%y do, sin?(kx—wt) . N
1 |a dt dt | = 1— (cbypz zpy) +](CI)pr -

dpy dpy dp;
dt dt dt

ci)xpz) + E(q)xpy - ci)ypx (16)
Know we can see that in the Compton & Zeeman effects when the wave beats with

a matter or even another wave (electromagnetism) we infer a difference between
@ & p that we can write the (p) to this way:

p=mv=mro =

-2 (we here wrote the @ because we don't wrong it with w for example
mr

in the sin(kx — wt)).

We can take the (@) from this equation. For this we should solve the matrix for p
(with take the integral from that.)

But the easily way is: (in the perpendicularity direction)

Ao Fp_dOF, _1dddp _ an
dt 11 dc 11 1l dt ac 0%



That gets us: (here we don’t consider the(1) and until now we considered that
because that was about the length and we want to take it a unit length):

dd = Idtdt— ldt (n= t) (18)

=7 o TF n = cons
Of course here we could take an integration by part (but if we consider the (dt)s
separate from each other). If we take [ = const we’ll have: (that almost always
the I is const)
dq

db=n— = ED):n

ki
F =4

(19)

S

But here these are good when [ = const and we consider when the force cause
the moving and the moving cause the making (of course it was from before) the
force. From this we can write o:

q
mr®

&= (20)
Here we could get the general (») in the Compton effect and in the past articles we
could take the (®w) in the particulars of the particles in the atom and
electromagnetism and both of them depend to each other.

Because the moving of the electromagnetism wave isn’t just in special direction, it
1s possible that the direction of the waves turn around the main axis. The
transformation (16) is better than the recently equations. In equation (20) we can
see that the (w &n) depend to each other and possibly the n and its coefficients
depend to ® for the Compton Effect and ® for the atom and simply
electromagnetism.

For correcting the (q) to the electromagnetic and vector way we should write:

_ kq
Tijz

Tl

= (for easily way we change (ri j)to (r)becauseit isnt changing the value

= S = 4T por2S
of that) = E = q2=#=>q=4nsoEr2=°—ﬁ°
ATTELT B

1)



We know that: (from Maxwell’s transformation)

, 4mr?S  4mr?S  SA 22)

C = £ 1 = — = = = —
okto 1 c%B cE cE
That gives us:
SA SA S
w = =S — - S — - —
7 mrc®E 7 mrc(AB cos a)E 7 mrc(E. B)
. S
= (for the coordinate component(x)) > Ww=1N—55< (23)
mxc(E : B)

At the before we calculated the (w) for the @ and now we calculated the (®) for the
poyinting vector for (E & B & S). If the second thing be a matter we put the (m) in
this equation but if that was another wave we can write: (as we did in this article):

p§ = m,, so we’ll have (for beating two waves)

—

S,n 1
== J— —_— — = n —_ —
(pr)xc(Ex. Bx) pxc(Ex. Bx)

Wy (24)

As you see we can get the (0) in many ways and systems but we try to get it as the
whole:

n S2 S2 S?
= Jo o+ 0F = E5) yEE)  AED)
X x- Dx y y- Dy Z z- Dz
1 . §2
= % <f(tensor of (with power 2))(x3 353 32_1) — 2)) (25)
Y2 ¥3(E.B)

Because for the tensor we have:(also we could get the tensor of (S & E & B)



. b axbnew ,
x? = ) ——x% = (attheall) = x

a
0x% 414

OXpew , 0% 0x
aanldX —aX‘F@Y (26)

And we didn’t calculate the Z—j because they are different and just calculated the

main axis and because they have the part derivative we should take an integral at
the all and because after the part derivative there is a main component (X & y&
z)we should at the all divide the all integral to (xyz) and because that from the

and at the all we’ll have:

2y so we infer 5353

before we had

Wiotal

1 i S
Cz;zmi zll f(tensor of (with power 2)) <x3y3z3 Zg(zf §)2> (27)

[ A 2

And this equation is for all of the materials that we want to calculate the sum of the
Poynting vector is so good.

And for the waves we’ll have:

— 2 2 2
Weotal = \/wx + wy + wz

n 1 1 1
~ e I e R H——
PC 1\x2(E..B,) y?(E,.B,) z?(E,.B,)

(28)

When we want to talk about the many electromagnetism waves that are beating
each other we should just get the some of the p (of course when the waves are
stable).But when the waves aren’t stable we should calculate the correctly
sentence(s) which one them is curl of the expressions in the parentheses in eq.(28)
and we should put the curl of that equal with zero and calculate the correctly
sentences by solving the curl as a matrix which depend tothe (x & y & z & c¢)
and then multiple the correctly classical sentence to the parentheses.



In eq. (23) at the first seeing we say that we can put L (in the perpendicular
position) instead of (mrc) but in fact this saying is wrong because now we’re
talking about the beating between a material and a pulse of the electromagnetism
wave. Here the (m) is for the material and the (c) is about the velocity of the
electromagnetism waves and these are two different things and we can’t make a
communication between them. But if the material has a special moving with a
special velocity we can add the (v) for example next to the (mrc) and we’ll have:

-

SA SA
— N g — n > - > — n > - —
mrc®E + mrv®dE mr(c + v)(AB cos a)E mr(c + V) (E B)

w=1 (29)

Of course here we shouldn’t get it wrong from relativity principle that says us the
light velocity’s is unit and constant from all of the systems. No, this equation
doesn’t say it to us. This equation says us that when the light is falling and beating
to the matter we should take the sum of two velocities and it is correct while that
principle says us that when we want to calculate the (v) and (c) separately we
should get the (c) to constant and it isn’t necessary that we consider and calculate
(v) but now the (v) is important for us and we need it and also the matter is moving
and we don’t want to calculate the velocity of the light when it’s passing the matter
with velocity(v).We told that when we say (mrc) isn’t the angular momentum
know that we have (v) and this velocity depend to the matter we can take that equal
with L or angular momentum but this is correct when the axis p and r be
perpendicular to each other because (sin 90=1) and fortunately this is correct for
the electromagnetisms fields and axis. So easily we can infer:

SA

w = n - g -

mrc®E + LOE
~ SA (30)

7 mrc(A§ cos af)ﬁ +Lcosa ABE
= (a transformation for all the angles) =
S

W = (31)

7 mrc(ﬁ. §) + (B.7)BE



In the classically way we should accept this equation but in the relativity we can
say it to another way but this method here isn’t so good because we don’t consider
that the moving of that but if we want to write it’s to this way:

AE, = Amc? = (here means) = Am =m,, —m,, =m— pS = m

AE, .
=—*4 5§ (32)

So we’ll infer:

W=7 = (33)

Here is when we want to know the kinematic energy that if we consider that the
light enter a force and has an energy we can get it easily from the classical laws.
With this we can take the (o) with the (AEy) and when we want to say this
equation to the electromagnetism way it isn’t necessary that use from this way and
we can get the energies and vectors from the Poynting vector and the classical or
the Compton Effect transformations in this article. Easily in the classically way we

can write instead of (m) the ( p§ ) and write: (of course for beating between the two
waves)

-

S 1 (Eﬁ)_l 1
w = 77 >, - — N S5 77 - - N S —>
pS(E.B) + (B.7)BE p(E.B) + (p.7)BE pcosa+ (p.r)
(EB) 1
= . (34)
cosa p+mr2f
—>—o\—1
(EB) 1 _ , ,
= = (but here again the p and r are in the perpemdicular
cosa p+[

possition and always this subject is correct about the electromagnetism
waves.) (35)

In eq. (33) we talked about the kinematical energy but it isn’t completely correct
that here we use from that, because the (m) is for matter and the (c) is light velocity
and it’s better that we don’t use it but when in the beating all of the energy of the



wave penetrate to the matter we can use it and also we can use from the classical
laws because here the matter doesn’t move with velocity (c) or in the other word
the light velocity. Eq. (35) gives us the (®) directly to depend on the (E & B).
Again we can write eq. (35) to this way for three dimensions:

— 2 2 2
Wiotal = \/wx + wy + wz

- —\—2 - —\—2 - —\—2
(E<B,) 1, (E,B,) 1 (E,B,) 1

= = = " (36)
cos? a (p +Lx)2 cos? a (p +Ly)2 cos? a (p +LZ)2
We put (1 — sin? a)instead of the (cos? a) and write:
Wtotal
> —\—2 - —\—2

_ (ExBy) 1 s (E,B,) 1

(1 = sin® a) (b2 + L, + 2pLy) (1 =sin® @) (b2 + I, + 2pLy )

1
(EB,) 1 2 -
(L =sin®a@) (p2 + " + 29L,)
- —\—2

_ (ExB:)

(p+Le) = ((psina)? + By X 1)? + 2p(F X 1) sin )

o> —\—2
) (£,5)
- 2 N - .
(p+Ly) — ((p sina)? + (B, X ry)z +2p(p, x 1) sin a)
1
- —\ —2 2

+ (E2B) (38)

(p + Zy)z — ((p sina)? + (B, X ry)z +2p(p, x 1) sin a)

We could see that with this method we can reach to the all angular momentum and
it doesn’t depend on the angle and is correct for all of the angles and here will
show it with (f). Also if we pay attention a little we can accept that the (p) depend
to its place so we’ll have:



psina = p, (39)

And we’ll infer clearly:

Wtotal
- —\—2 - —\ —2
(ExBx) (EyBy)
= S 2 ) — T > 2 —2 —
2 2
(p+1Ly) — (py +L, + Zpny) (p+L,) - (py +L, + ZpyLy)
1
- —\—2 E
E,B
(0+L.) —(py2 + L, +2p,L;)
And we know that:
. dL dlw o L
=77 U, = T (here we delete the u, because itisinw) = lw + wl
Because in the stable electromagnetism waves the I = const so we’ll have:
2 =lo=la=" =>f1adt=fdf=>fl=lat (41)
lat = ilt = (at the average and the all)7,t = L (42)

And it is an important produce because we can consider that when we take
[ = const and a=constant that both of them are correct about the

electromagnetism wave we’ll can the all 7, depend on L. Now we put the produces
in eq. (40) and infer:

Wiotal

_ ( (E:B) (£5)"

. - - + . - -
(.0 + mxza)z - (pyz + (Txt)z + 2py(Txt)) (p + myza)z - (pyz + (Tyt)z + zpy(Tyt))
5 1
- —\ 2
(E-B,) )

(p +mz2d)? — (py? + (T,6) + 2py (T,1))

(43)

As you see we could get the(7) depend on the (®). But this equation is about two matters (of
course we got the (p) beating between two waves but here again we inferred (m) and because



we’re talking about the waves we should write it as the poynting vector but we told that when the
wave is beating to material the force and energy are freeing and we can consider the mass of a
thing and it wont cause to make the difference between two times) and if we want to write it as a
electromagnetism wave we can write:

Weotal
) (£5)"

(P(1+5:2020))" = (py2 + (Ext)? + 2py (71))
. (£,8)”

(p(1+5,y20)" = (py? + (Fy1)? + 2, (Fy1)

N[ =

- —\—2
(E:B,)

+ 2
(p(l + SZZZd)) - (pyz + (?zt)z + zpy(fzt))

(44)

So you see that we can get the(§) depend on the (w). We get the (I') to this way:
(for taking easy eq. (44))

=4 2 - -
= (p(l + szd)) — (pyz + (7t)* + 2py(rt)> (45)
So we will have:
Wiotal
1 1 1
= |I-o2 vt oo t ooz (46)
(ExBy) I (EyBy) I, (E.Bz) Iy
We know that:
5 2
E X B)=EBsi =Suy, = (EB) =—"F—
(Ex B) = EFsina = Sy = ()" = 20
So we’ll have:
sina 1 1 1
Wiotal = 5 2 +_,2 +_)2
o IS, T, &1, STy
1 1 1 1
=—| —0—+—F+— (47)
ol IS, I S, I, S, Ty



That 1s a very good and useful equation. And also we can make a communication
between the (w) in the atom and (w) here. Remember that at the before we tried to
get a communication coefficient for two (m)s but there were the other coefficient
like the (® & p & S & r) and know we try to get the constant between two (®)s to
directly way and get for example the (£) as the constant and rewrite again:

1 1 1 1
wwavezf(‘)atom:u_ ) +_,2 +_)2
° Sx FX S I SZ FZ perpendicular

= £(456603773.9) (48)

That the recently number is for the general (®) in the hydrogen atom that we took it
in the past article with the special method .So because we told that in the Hydrogen
atom and it has just one energy balance and we want to get this formula for all of
the matters we should add the Y parameter that depends to the uncertainly
principle but here we know the wave direction and electron or other particles
circuits and the v is in fact the correctly parameter and in the different circuits it’s
possible that changes with one or many coefficient(s). So we write:

1 1 1 1
wwave:&/)watom:u_o ) +_,2 +_)2
Sx FX Sy Fy SZ FZ perpendicular
= &(456603773.9) (49)

Until now we were talking about the electrical and magnetic particulars of the
electromagnetism waves but we want to talk about gravitational particular of that
and until now we calculated the equations without considering the gravity force at
the beating time. Now we want to consider that. We told that when the wave is
moving can create the energy and a force. It is possible that these forces do
absorption to each other and give an interference effect and it cause that direction
of wave want to change its axis. If we want to don’t say it for force and say it for
the energy also we can say that the interference energy and this interference energy
can cause that the ray will change its axis. Of course it is possible that this



interference energy, if energy of the two things will be equal and in the opposite
direction doesn’t work because they aren’t equal with themselves and in fact these
energies are the internal energies and usually they are to challenging with each
other for their value. We know that when we want to consider a wave is beating to
another thing we should consider a f(x) for that because it is moving and we need
to get the function of the (x) because with this we can get the phase angle and (kx)
and the domain and it is so good. Because for moving the particles in the atom and
moving the waves we don’t know certainly place of them (that’s simple thing).We
should write the correction equation for the (f(x)) and in the past article we did it
and with the uncertainly principle we have:

Xime + mpi>

Zimei-mpi

FC) = 22~ (50)
xX) ==Y —

2" dx
That this equation is about the particles in the atom that here we got average of the
(me & m,).But here we need it about the waves and we can write: (for the wave &

matter) m, = p§ & m, =m (51)

That these are simple because we at the before calculated these and considered
them. The expression (?f(x))in the eq.(50) we writ to this way:(f (x))y for
changing to the simple way of the calculation of the equations. We know that in
fact the f(x) convert to (G) because when we are talking about the gravity between
two forces we should consider and calculate the (G) in all of the circuits and things
like materials or particles. If we write these equations we can take (G) and we can
get it from the past article and we arrived to the Fourier theorem and we have: (of
course it was a part about they)

111 nmx pS; +m;
Gope = —j P2, sin? d (le L l>
T 2iPSi-m;

4m l
1
= —jaodx+a1 cos wt dx + a, cos 2wt dx + a; cos 3wt dx + -
T

+ a, cosnwt dx + --- + by sin wt dx + b, sin 2wt dx + b3 sin 3wt dx + -
+ b,, sinnwt dx (52)

And we have written it about the waves. We have:



GMm
r2

And it is between two matters and here for the waves we should consider the
poynting vector and density. So we’ll have:

F= Gp Sm R (53)

And with putting the (G) we’ll have:

B[ o o (B
i Poi- My
(E X B) , NTX Y, pS; + m;
,uorrz U P2 sin? l d( > o m >] (54)

And we could infer that the (F) depend to (E &E) and also we have: (for energy)

=VV

And we have for example (r=x & y & z) and we’ll have: (here we calculated the
vector way — (r =X+ y + 2)

F
EXB pS; +my
{ . [-[( )1/Jm sin? nxd<zl.0 1_) ml)]
HoTX l i PSi-m;
EXB pS; +m,
P f( ) 42 sin nﬂyd<21p : ml>]
HoTy? ! Y pS;.m;
m EXB S +m;
+ P 2 j( )"bm sin? <le )]} (55)
Hot2 L leS m;




If we want to solve integral (54) we should take by the part integration from that
and it is:

j (Ex B) B) Ny (Zip§i + ml-)

sin? >
¥ L 2iPSi-m,
ExB 5 o nmnx pS; +m;
= f(—)l/)TZn(E X B) sin? d(le = l)
4 L i PSi-m;
pS; +m; , NIX
+ j (le - l>¢m <(E X B) sin —) (56)
YipSpm; ) 4 l
That the second sentence that’s an integral that’s:
YipSi+m;\ v _onmx\ _ Vh 2 L B .o nax (X pSitm,
S (o) e (st =2) = 2 (8 By s =2 (3235 (57)

And here the (y,,,) is constant because it is the maximum and has just one value.
So eq. (55) changes to:

> 2 2002 OB pSiAm;\ | 2 2002 OB pSi+m;
F=—-(£2 1p—m(Ex X By) sin2 2= (le l+ml) + = 1p—m(Ey X B),) sin? 2= (—le l+m‘) +
LoTXZ 4 L\ 3;pSim; Hoty? 4 Lo \ZipSim;

2om Vi (, x13)512"”z<&£iimQ (58)
MOTZZ 4 ZipSi.mi

Because (E X §) = const we’ll have:

R aF oF _OF
V_ k_Z

iyt
) ZLPS +m; Ez § )l/)z pm 2mn sin nix
leS m; T potxd 1 l
Si 2z 2
4 |(ZL2ET) (7, o B g, L 2T i T
[\ XipSi.my Hoty® l
s[(ZpSitm = = , pm 2mn  nmz
e K YipSi.m; >( 2 X B notz® 1 T l (59)
V=2in ZipSi +m P2 P 2 b= sin— + = sin— (60)
leS m; m.uorl x3 l y3 l 73 I



The expression (21) shows us the (27 rad) and it says us that we should talk about
them in the radians system. The equation (60) is important because gives us the V
depend on the ()and we can take our experimental length and calculate the V.
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Appendixes (some parts of article 1 & 4)
4

For the other unit vectors we can use from this method to the other ways and we
get a vector answer. Now from eq.28 we have:

fx) = li(M) (32)

2dx Zimei.mpi

Know we want to enter the Y in these equations: (because the f(x) depend to

the ):

Ximg; + mpi>

Zimei-mpi

_ 1_.d
P2f(x) = Elpza( (33)

We know that the (1?) is a correctly sentence. So because we want to take this
equation from easily way, we take (Y?f(x) = (f (x))) and we have:



B 1_d [Yimg +my,;
(f(x))tp) - E¢2a< Zimei'mpi )

And we know that:

,nx d (Zimei + mpl-> 34)

1 .
(f(x))¢) = lerz" Sin I dx 2i Mej-Mp;

From the Fourier theorem that(x=f(t)) now we take f(x) instead of the f(t)
because we have:

frf(x)dx and we'll have ff(r)dx— ff(O)dxsz(r)dx (35)
0

And we find f(t) or f(t) so we write f(x) and write :(because the particles have a
period for turning)

f(x) = ay + a, coswt + a, cos 2wt + a; cos3wt + -+ + a, cosnwt + -
+ b; sinwt + b, sin 2wt + b sin 3wt + -+ + b, sinnwt (36)

That is for the particles. We get the a,, and b,, from this method:

a, = zjrf(x) cos nwt dx (37)
TJo

b _i[ ' d 38
n—;jof(x)smnwt X (38)

And we have:

1(° 111 nmx [ YiMe +my,
G =—j (x)dx=>G=—f— 2 sin? d< (39)
ave T ), f T 4l/)m ] Zi Mgy Moy
1
Gupe = ;f apdx + a; coswt dx + a, cos 2wt dx + a3 cos 3wt dx + -
+ a, cosnwt dx + -+ + by sinwt dx + b, sin 2wt dx
+ b3 sin 3wt dx + -+ + b, sinnwt dx (40)

And from this method we can get G or G,,. or correctly G in the atom between the
particles and nucleus. But we should put numbers in the parameters of these



equations. For example we want to calculate these equations for nth circuit or on
the nth circuit.

1

We want to extent equation (14) to the torque of the electron. For this we
remember equation 6 that also have inferred the angular momentum classically.
It’s important in our calculating here that consider a system that has the particulars
of electron and proton (both of them) because as have spoken in this article a force
enter to the proton (of gravity and electrical) and also a force enter to electron from
proton in opposite direction than the electron to proton. So we write that: (we get
that

Lt=L (because we can almost get for the particles that are small which

the changing of the angular momentum is equal with the torque and it's

L
like that we say:t = PT and here the time is a little.

dL dv dv
L =myu, T+ myv,1 _)E =mp(a)r + m, (E)T -
dL
(medv + mydv)

dL = T(mpdv + m, dv) - T= (15)
Here we wrote the derivative of the momentums (angular and leaner) of the proton
and electron in a system. Now we want to calculate the partially derivative of them
because they are too small and this derivative is better than and is good for
considering the differential of the proton and electron. So we’ll have:

9z = oL
e m,0v + + m,0v

(16)

Now also we calculated the partially derivative. The (dL) because is too small and
it should be constant at all of the circuit about proton and electron (because we
have: Fe, everyplace —

Fp everypiace ) SO We now that a number that its derivative is itself is (e) and we

can write:



TXe

28 _[ln2v.e,t e2ln2v,p,t] 17
t= mpdv + medv 17

The power of Tt here was 2 because the force of power (likely the(r X F)) enter
from to direct. Here for numbering calculating we add the (dt) to the issue of the
(my,dv):

_ [[n2v,e, te2 n2v,p,t]
[me (G5) + me (35)]

invoice . invoice 18
[mp[v (dv/dv)) + me (v (dv/dv))]] o [v(mp+ mv)] ( )

0t

Here we could proof that when we want to take the differential of the moving of
electron and moving of the proton we can consider (v) not (dv) and we have

1 .
(% = E) because the (v) and (t) have some communications between them self

and we for getting the (dt) should divide the dv on the v because we want to find
the dt that is so little and the v is big and again the dv is so little and when we
divide them we can arrive to the little parameter. So for the 0t we have:

[(nN2v,e, te2n2v,p,t] 3 3.5500
- = =
[v (mp + mv)] ' T 12X (0.511Mev + 938Mev)

ot =

3.5500
[1.2 x (938.511)]

= 0.0031521562 (19)

As you saw in this article we could two important constants. one of them is
equation 13 about (w) and another one is this equation (19) that’s about (0t). In
fact these equations are the roots of my theory and we could calculate them. Now
write them again here:

The const (w) — 456603773.9 (cm2/t) (13)

The const (dt) —» 0.0031521562 (1/Mev) (19)
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